
Datum:        Jméno:  

Dyslektici nemusí počítat modré příklady. 

1) Rozepiš mocniny: -73=   
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2) Rozepiš číslo jako součin mocnin prvočísel (volné místo využij na rozklad):  

260=       350 =  

 

   

135=       720 =  

 

 

       

3) Vypočítej: 3.25 + 7.23 – 25 + 4.23= 

           9.53 + 3.72 + 3.53 – 6.72= 

           4.26 + 7.23 – 26 + 5.23= 

           9.23 + 3.72 + 5.23 – 8.72= 

  

4) Vypočítej: 53.54=     210:27=   94:92= 

          58:53=    24.27=    93.95= 

          73.7=     28:23=    37:32= 

          108:105=    1110.11=   93.95= 

 

Nápověda:  62 = 1 . 62   (cv. 3) 

         7 = 71    (cv. 4)  

 


